MYV 400 FKS TWIST 30°

Reservedelsliste / Spare parts list / Ersatzteilliste / Liste des pieces de rechange

80110408 80100764

80220201 80100767

i
ot

|

Assembly of swan neck

80100769

=1

Note:

We recommend

Welding Wire, @

oversize contact tip:| 0.8 | 1.0 | 1.2
Contact tip 91.0 X

Contact tip 01.2 X
Contact tip 01.4 X

24a must be used

Note:
24b& 240 ond 24b

together

Pos. No.
80297606
80297607

1 45050401
2 45050400
3 80100420
4 45050418
5 80100401
6 80100402
7 45050420
8 45050419
9 45050423

10a 45050407

10b 45050407

1 45050402

12 80252501

13 80100768

14 80100769

15 80100767

16 80100764

17 80220201

18* 80110408

19 80231201

19* 80231202

19 80231204

19 80231206

19 80231207

19 80231208

19 80231102

19 80231103

19 80231104

50119438

Varebetegnelse
Warenbezeichnung

MV 400FKS Alu, 3m
MV 400FKS Alu, 3m
MV 400FKS Alu, 4m
MV 400FKS Alu, 4m

Handtag, nederste del

Handgriff Unterteil

Handtag, everste del

Handgriff Oberteil

Tast med microswitch, komplet

Taster mit Mikroschalter komplett
Tastjustering

Taste Justierung

Basismodul

Basismodul

Reguleringsmodul, potentiometermodul
Reguliermodul, Potentiometermodul
Kugleled, gra

Kugelgelenk, grau

Bageste lasering

Hintersicherungsring

Kabelaflastning, gra

Kabelentlastung, grau

Bosning

Buchse

Bosning

Buchse

Forreste lasering

Vordersicherungsring

Svanehals, 30°

Brennerhals, 30°

Isolering, gummiovertraek

Isolierung, Gummitberzug
Isoleringsbasning, keling

Isolierbuchse, kiihlung
Vandkelingsenhed

Wasserkuhleinheit

O-ring 212x2,5

O-Ring 012x2,5

Isolatorring

Isolatorring

Dysestok, 24mm

Dusenstock, 24mm

Kontaktdyse 1,0 M8 28x30mm CuCrZr
Stromduise 21,0 M8 88x30mm CuCrZr
Kontaktdyse 21,2 M8 28x30mm CuCrZr
Stromduise 21,2 M8 88x30mm CuCrZr
Kontaktdyse 21,4 M8 28x30mm CuCrZr
Stromduise 21,4 M8 28x30mm CuCrZr
Kontaktdyse 1,0 M8 210x30mm CuCrZr
Stromduise 21,0 M8 210x30mm CuCrZr
Kontaktdyse 21,2 M8 210x30mm CuCrZr
Stromduise 21,2 M8 210x30mm CuCrZr
Kontaktdyse 21,4 M8 210x30mm CuCrZr
Stromduise 21,4 M8 210x30mm CuCrZr
Kontaktdyse 1,0 M8 210x30mm E-Cu
Stromduise 21,0 M8 210x30mm E-Cu
Kontaktdyse 21,2 M8 210x30mm E-Cu
Stromduise 21,2 M8 210x30mm E-Cu
Kontaktdyse 1,4 M8 210x30mm E-Cu
Stromduise 21,4 M8 210x30mm E-Cu

Description of goods
Désignation des piéces

MV 400FKS Alu, 3m
MV 400FKS Alu, 3m
MV 400FKS Alu, 4m
MV 400FKS Alu, 4m

Handle lower part

Poignée partie inférieure

Handle upper part

Poignée partie supérieure

Trigger with microswitch complete

Gachette avec micro-interrupteur complete

Trigger adjustement
Ajustage de gachette
Basic module
Module basic

Adjustment module, potentiometer module
Module de ajustage, module potentiométre

Ball joint, grey

Rotule, grise

Rear snap ring

Anneau de verrouillage, arriere

Cable relief, grey

Traversé de cable, gris

Bush

Bague

Bush

Bague

Front snap ring

Anneau de verrouillage, avant

Swan neck, 30°

Col de cygne, 30°

Insulation, rubber cover

Isolation, protection caoutchouc
Insulating bush, cooling

Bague d'isolation, refroidissement
Water cooling unit

Module de refroidissement

O-ring ©12x2.5

Joint torique 12x2,5

Insulating ring

Bague anneau

Contact nozzle, 24mm

Piéce intercalaire, 24mm

Contact tip 1.0 M8 98x30mm CuCrZr
Tube contact 1,0 M8 @8x30mm CuCrZr
Contact tip 1.2 M8 98x30mm CuCrZr
Tube contact 91,2 M8 @8x30mm CuCrZr
Contact tip 1.4 M8 98x30mm CuCrZr
Tube contact 91,4 M8 @8x30mm CuCrZr
Contact tip 1.0 M8 10x30mm CuCrZr
Tube contact 1,0 M8 @10x30mm CuCrZr
Contact tip 1.2 M8 10x30mm CuCrZr
Tube contact 1,2 M8 @10x30mm CuCrZr
Contact tip 1.4 M8 10x30mm CuCrZr
Tube contact 1,4 M8 ¢10x30mm CuCrZr
Contact tip 1.0 M8 610x30mm E-Cu
Tube contact 1,0 M8 ¢10x30mm E-Cu
Contact tip 1.2 M8 10x30mm E-Cu
Tube contact 1,2 M8 ¢10x30mm E-Cu
Contact tip 1.4 M8 10x30mm E-Cu
Tube contact 1,4 M8 ¢10x30mm E-Cu

MiCATIOoNiC

WELDING VALUE



Pos.

20
21*
22
23
24a
24b
25
26
27.1
27.2
28.1
28.2
29.1
29.2
29a
29b
29c
29d
2%
29f
299
29h
29i
30.1
30.2
31
32.1
32.2
33.1
33.2
34
35

36

No.

80240308

80240307

80240318

80240317

80110411

80220315

25420088

80100712

80273026

80273027

80270025

80270026

80281218

80281219

45050426

45050431

40814414

45050312

40110406

80200301

26920008

80100710

80200303

45070024

45070025

43120003

80160720

80160721

80160900

80160901

80160920

74471351

40852512

Varebetegnelse
Warenbezeichnung

Gasdyse cylindrisk, 62mm

Gasduse zylindrisch, 62mm
Gasdyse konisk, 62mm

Gasduse konisch, 62mm

Gasdyse cylindrisk, 67mm

Gasduse zylindrisch, 67mm
Gasdyse konisk, 67mm

Gasduse konisch, 67mm

Dysestok til isolator

Dusenstock fur Isolator
Gasfordeler-isolator
Gasverteiler-Isolator
Tradferernippel

FUhrungsnippel

Kabelstik

Stecker

Stremvandkabel, 3m
Strom-Wasserkabel, 3m
Stremvandkabel, 4m
Strom-Wasserkabel, 4m
Overtraeksslange, 3m
Uberzugschlauch, 3m
Overtraeksslange, 4m
Uberzugschlauch, 4m
Slangemodul, komplet 3m
Schlauchmodul, komplett 3m
Slangemodul, komplet 4m
Schlauchmodul, komplett 4m
Kabelaflastning, sort
Kabelentlastung, schwarz
Kugleled, sort

Kugelgelenk, schwarz

Plastskrue (1 seet = 2 stk)

Schraube, Plastik (1 Satz = 2 Stuick)
Aflastning til ZA-tilslutning m/huller
Entlastung fur ZA mit Léchern

CHJ skrue M4x6
Zylinderkopfschraube M4x6
Metrik til ZA

Mutter far ZA

Gasnippel til ZA

Gasnippel fur ZA

O-ring 4x1

O-Ring 4x1

Holdemetrik

Uberwurfmutter

Pakning til ZA-aflastning, 1 hul
Dichtring fur ZA-Entlastung, 1 Loch
Pakning til ZA-aflastning, 2 huller
Dichtring fur ZA-Entlastung, 2 Locher
Lynkobling @6, han

Stecknippel @6, mannlich
Tradleder PA 3,4m til 1,2mm trad, varmebeskyttelse
Drahtfuhrungsspirale PA 3,4m fur 1,2mm Draht, Hitzeschutz
Tradleder PA 4,4m til 1,2mm trad, varmebeskyttelse
Drahtfuhrungsspirale PA 4,4m fur 1,2mm Draht, Hitzeschutz
Holdenippel til teflon 4,0
Haltenippel fur teflonseele 4,0
Holdenippel til teflon 4,7
Haltenippel fur teflonseele 4,7
O-ring @3,5x 1,5

O-Ring 3,5x 1,5

Ledningssaet

Leitungssatz

Skrue

Schraube

Sliddele monteret som standard
Montiert als Standard

Description of goods
Désignation des piéces

Gas nozzle cylindric, 62mm
Buse a gaz cylindrique, 62mm
Gas nozzle conic, 62mm

Buse a gaz conique, 62mm

Gas nozzle cylindric, 67mm
Buse a gaz cylindrique, 67mm
Gas nozzle conic, 67mm

Buse a gaz conique, 67mm

Tip adaptor for insulator

Piéce intercalaire pour isolateur
Gas diffuser insulator

Isolateur diffuseur gaz

Wire guide nipple

Raccord guidage de fil

Plug

Fiche de raccordement de cable
Water current cable, 3m

Cable pour courant d’eau, 3m
Water current cable, 4m

Cable pour courant d’eau, 4m
Cover hose, 3m

Tuyau de protection, 3m

Cover hose, 4m

Tuyau de protection, 4m

Hose module, complete 3m
Module de torche, 3m

Hose module, complete 4m
Module de torche, 4m

Cable relief, black

Traversé de cable, noir

Ball joint, black

Rotule, noire

Screw, plastic (1 set = 2 pcs)

Vis, plastique (1 jeu = 2 pcs.)
Relief for central adaptor with holes
Support ZA avec trous

CHJ screw M4x6

Vis CHJ M4x6

Nut for cental adaptor

Ecrou

Gas nipple for central adaptor
Raccord de gaz

O-ring 4x1

Joint torique 4x1

Retaining nut

Ecrou de maintien

Sealring for ZA-relief, one hole
Joint pour support ZA, 1 trou
Sealring for ZA-relief, two holes
Joint pour support ZA, 2 trous
Quick-clutch @6, male

Unité d’accouplement rapide @6, male
Wire liner PA 3.4m for 1.2mm wire, heat shielding
Guidage de fil PA 3,4m pour fil 1,2mm, protection thermique
Wire liner PA 4.4m for 1.2mm wire, heat shielding
Guidage de fil PA 4,4m pour fil 1,2mm, protection thermique
Retaining nipple for tf 4.0
Raccord a vis pour tf 4,0
Retaining nipple for tf 4.7
Raccord a vis pour tf 4,7
O-ring3.5x 1.5

Joint torique 3,5x 1,5

Wire harness

Jeu de cable

Screw

Vis

Fitted as standard equipment
Equipements standards



